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Public Administration

Paper 11

TRIITTEA
gyatsrent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. Wd U WrE.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

During which of the following stage

scholars claimed that public

administration is a science ?

(A) Stage I-Politics-Administration
Dichotomy

(B) Stage

Administration

II-Principles of

(C) Stage III-Era of Challenge
(D) Stage IV-Crisis of Identity

What is the common man’s notion of

an administrator ?
(A) Someone with technical skills

(B) Someone in a high position

exercising control

(C) Someone performing operational

activities

(D) Someone with technical

knowledge

WeieTeh! SV TUATd TagMT 3191 STl

Shell Sl AHYRIET € T IS 3Te 2

(A) UfEel THI-TSTRRU-YITET &8
(B) THU TH-YRIEARA d<
(C) fagu Tum-ARM =T Fles

~

(D) e Zor-STfEde Hehe

TSRS =1 HIOTET= 0T 1
g ?

(A) dif3Ieh IS AHAAT bl
(B) 3=9 9ereiial o= Saumdt =<ht
(C) i FHadl B bl

(D) <ifSeh T SO b

5=
[



3. . What does Dwight Waldo emphasize

about the evolution of public
administration ?

(A) Public administration should
focus solely on administrative
processes

(B) Substantive issues confronting
society are irrelevant to public
administration

(C) Public administration cannot
shy away from substantive
issues confronting society

(D) The discipline of public
administration is primarily
concerned with historical
analysis

According to the Machinery of

Government Committee (1919)

report, what are the two

alternatives for determining and
allocating the functions of
departments ?

(A) Distribution according to
geographic regions or
distribution according to the
nature of the service

(B) Distribution according to the
nature of the service or
distribution according to
persons or classes to be dealt
with

(C) Distribution according to
government agencies or
distribution according to the
budget

(D) Distribution according to
economic sectors or distribution
according to political parties

3.
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TATEE ATCS! HIeSIeh TR Sehi-
FEA HIER W @l ?

(A) HESIeh YRTHAT hded YIMHh

yfshaeaR A&l higd

(B) GHTSITAT SSHEUR HAYd 997
RIEFNIEEINIEECI IS IEK

(C) HHSTE SSHEUIF JAyd TR
WS JRIEAE A6 52 T4

(D) ceRyRIEATE R A Waerdes
fargeromsht ffea ome

Ay 31t Teg-iHe shiger=ar (1919)

srearargar faurm= wm™ Hfy=a

FHLOIIES & 9 HI0AES! SF 9aig

FIT 3TMed 2
(A) Ariifersh TeeTaR faaeon fenar Sa=n
TEAHER Tz

(B) Hor= WEUAER foawor &0 fohan
B ST e fehal SUfTaR
feraar

(C) TR FFUMHR T fehar SR
EECARUINERIR|

(D) T SR faao foran TSt
JER faawo
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How many types of superior
subordinate relations are identified
by Graicunas ?

(A) 2

(B) 3

C) 4

D) 5

Who defined leadership as “the
activity of influencing people
to strive willingly for mutual
objectives ?”

(A) Bernard

(B) Terry

(C) Seckler-Hudson

(D) Millet

Assertion (A) Government
decided to undertake lateral
recruitment at the level of Joint
Secretary. Director and Deputy

Secretary in the Central
Government.
Reason (R) For making

appointment of persons for specific
assignment keeping in view their
specialised knowledge and expertise
in the domain area.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

5.
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YR Ies T3 HaEm fohdl TR
Tfaa emed ?

(A) 2

B) 3

) 4

D) 5

g Sfese 9T RIS AR
A8 T HIIEET qdTfad sl
RSt 2"’ 3TSht e HIvit et
g ?

(A) sFE

(B) 0

(C) YhoR-gsqd

D) faere

faem (A) : 33 WERAs g afea,
T 30T 39 Fieg a1 TWeR ofeld

Wt ShevaTEn ol Sden SR

HIOT (R) : FREGAA &= fomie 7=

AT e AT =5 fafirse e

I g Lol

Hehdich :

(A) (A) 3TfoT (R) SI6l sRIsR 3Ted S0
(R) ® (A) & 3Tk TICIH0T 3T

(B) (A) 3Tt (R) ST SRR 3TTed, W
(R) & (A) < T TIEHRI ATE!

(C) (A) s 3T, W (R) ¥ Ik 3T
(D) (A) I% 3T, TG (R) B IR 31

5=
[



8.

Which method of the following is a
problem-solving approach meant to
develop decision-making skill in the
trainees ?

(A) Lecture training method

(B) Syndicate training method
(C) Incidence training method

(D) Case study method

What are the major factors
classification of

determining

services ?

(1) The subject matter

(2) The kind of supervision

(3) Simplicity or complexity of work
(4) Required qualifications

Which of the statements given above

are correct ?

(A) (1), (2) and (3)
(B) (1), (3) and (4)
(C) (2), (3) and (4)

D) (1), (2), (3) and (4)

JUN - 21225/T1—A

ETeAerie! i g ot freafo
HIvTed fawfaa wIvImEEaT 9qEn
TIEE gftcshi 3 ?

(A) SAEAN G0 qged

(B) wiferkr Wf¥nero ugera

(C) =T Y& uged

(D) =AW AT UG

Har= FfteRter FEiia Hom TqE =
I AR 2

(1) foao= &%
(2) TIALUTET YRR
(3) HHENda WEFI fohan Tara

(4) STEYISH Tl

SRIeTen! SV faem SRR 3Te/3ted ?
A (1), (2) F (3)
(B) (1), 3) 9 (4)
(C) 2), 3) 9 (4

D) (1), (2), (3) 7 (4)
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10.

11.

Which is not the characteristics of
the British concept of civil service
neutrality ?

(A) Public confidence in the non-
political character of civil
service

Confidence of ministers
belonging to any political
party, in the loyalty of their
permanent civil servants
High morale of civil servants
based on the confidence that
promotions would be made on
the basis of merit

Civil servants participate in
election propaganda
Assertion (A) Herzberg
identified strong determinants of
the job satisfaction.

(B)

©)

D)

Reason (R) : Herzberg not found
duality of attitudes about work
experience.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
D)

10.

11.

JUN - 21225/T1—A
TEAAden! I TTa1 Haea] qeeerdd
TeqoT e ?
(A) STl FGT Fo= foR-Teih
Sfyrseaer favam o
(B) hIVICTE! TSTehid T&I=AT HAAT T

HIAEEY] e Yol e
fovamg smgu

(C) TUTERI=A MR Sl Beet deR el
Toerren fovar s
(D) IS TR |61 Foeh YRT Hard

faeam (A) : sStert Ahdidiel THTEAN
ESCURELCIEIRCA

HIUT (R) : TSI ShIHTT STvaTa

R e |

GTefiel Hehdleh dTIed YA 3o ol ¢

Hehdich :

(A) (A) 3701 (R) <&l Wed 3Trea AT
(R) ¥ (A) = I Tt e

(B) (A) T (R) Sel T 3Tled, W
(R) T (A) = Irg TR AR

(C) (A) ¥ 318, g (R) 7 3T9A 3%

D) (A) 3THH 378, 907 (R) § A 3T

5=
[
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12.

13.

14.

15.

Who is author of the book ‘New

Patterns of Management’ ?

(A) Ferrel Heady

(B) Chris Argyris

(C) Rensis Likert

(D) Peter Drucker

According to whom worker is not

an ‘Economic Man’ ?

(A) Luther Gulick

(B) Elton Mayo

(C) W. Taylor

(D) Chris Argyris

Taylor applied work study and

standardization of tools as well as

training to achieve :

(A) Productivity

(B) Mental Revolution

(C) Workman Welfare

(D) Efficiency

Which of the following is not

correctly matched ?

(A) M.P. Follett — Circular response
of leadership

(B) Abraham - The Hierarchy of

Maslow Needs Theory
(C) Rensis — Two-Factor
Likert Theory
(D) Chris — Fusion process
Argyris Theory

12.

13.

14.

15.

JUN - 21225/II—A
‘= Yo SATE HASHE ' A TihTe ol
IO 3R ?
(A) A B
(B) fgg smitE
(C) Iww fame
(D) X TR
HIVTAT Hd HTHTR 7l 3Tfefd woE’
&l ?
(A) TR Tfeteh
(B) Teed HAl
(C) Th. T, IR
(D) fgg smiid
oD U T STeEIA ST |red
THhIHI0 qHE FIRTe0r § | ld ¢
(A) SRl
(B) HHfg Shict
(C) MR hedml
(D) wE&HA

WA IV SRISR a3 el ?

(A) TR.W. Tice — AJcar aqesTHl
wfafsean

(B) 3T9ITEH Ul — TS Saie fagid
(C) Fafaw fawed — fgues fagm

(D) fgw =IriiE — W i fagi




16. Match List I (Author) with List II

(Book) and select the correct

answer using the codes given below

the list :

(@)
)
(c)
(d)

(1)

(2)
3)
(4)

List I (Author)
Fred W. Riggs
Chris Argyris
Dwight Waldo
Rensis Likert

List II (Book)

The Human Organisation : Its

Management and Value
Prismatic Society Revisited
Personality and Organisation

The Enterprise of Public

Administration

Codes :

A (D
(B) (2
©) @
D) (2)

(@ ) © (@

2 @B @

3 @ @
(6]

3

(1)
(4)

(4)
(1)

JUN - 21225/T1—A

16. = I (Trew) gt 11 () ded Jasa
o et feaen wfgdqd ama ek

aer

(@)
)
(c)
(d)

(1)

(2)
3)
(4)

el 1 (@)
e Ty, o
fgg smifa
AT dee!
fafaw faee
gt I (W)
T BAT SRS @ 328 HAsHe
#T =T
fsfess TRt RS
TR 3t SRS
T TS 31T Uectieh SfefHfeey™

Higar

A @
B) @)
©) @

D) (@)

@ & @© @

2 B @

3 @ @

1 @ @

4 @O 3
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=
17. As per the Simon’s view from the | 17. SE&T=A1 ud QAR RO ek ehell
following which is not the & ?
rationality. (A) =3
(B) Consciously (C) T
(C) Organizational ~ .
(D) Non-Deliberately (D) FrETER THeel
18. Match List I (Theory) with List IT | 18. §= I (fagm@) ¥=i II (fo=mea) dea
(Thinker) and select the correct S[ega1 At welt feeiedn |igdqd ard
answer using the codes given below IR fqarer -
the lists :
I
List I @ e &%ﬁ
(@) Theory-Z ¢ o
() feisi fo7 grsy
(b) Linking Pin Model o .
(¢) Bounded Rationality () Al dllj:hebdl '
(d) Modern Organisation Theory d) o1g
List II Tt I
(1) Rensis Likert @
(2) Dwight Waldo (2) T A
(3) Herbert Simon (3) T wE
(4) William G. Ouchi (4) fowm St sre
Codes : wfegar
(@ ) @© @@ (@) b)) @ ()
A 2 @ @O O A 2 @ @O O
B @ @® 6 @ B @ O 3 @
e 3 @ @ @ e 3 @ @ @
D 2 @O G @ M 2 @O G &
10 [=] 15 [=]
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=
19. According to Lindall Urwick, how | 19. faea Stfas=n wd, Gee= fohdt geria
many upgraded classical principles ARSI d@ oTRd ?
of organisation ?
(A) 4
(A) 4
(B) 8
(B) 8
(C) 14
) 14
D) 29
D) 29
20. Ch h i -
0. Choose the correct option to 20, i TEX WW
describe steps for integration as
suggested by Mary Parker Follet : T I HOOIES AT/ v e
(A) To bring the differences in the
open — Anticipation of Conflict (A) TN T HI0T s TEE ST
— Breaking up the whole into
their constituent parts quf fafay wwmmed faymmr
(B) To bring the differences in the
open — Breaking up the (B) HA9E Tl vl — qui fafay vmm-
whole into their constituent
parts — Anticipation of conflict He faammo — FEEiE ST
(C) Breaking up the whole into
their constitutional parts — To (C) qui fafay qrTHEd faumTer — Hade
bring the differences in the )
open — Anticipation of conflict el O — FE e
(D) Anticipation of conflict — To
bring the difference into open (D) el STHa — WA G 0 —
— Breaking up the whole into .
_ ) quf fafay wmmme fawmm
their constituent parts
11 [=] 35 =]

Ok
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21.

22.

Which of the following statements
are true about Prime Minister’s
Office ?

(1) It enjoys the status of a
department of the government
of India.

It has a few attached and
subordinate offices under it.

(2)

It came into existence in
August 1947 by replacing the
secretary to the governor
general.

Till 1967, it was called as the
Prime Minister’s Secretariat.

Codes :

(A) (1), (2) and (3)
(B) (1), (3) and (4)
(C) (3) and (4)

(D) (1) and (3)

The present system of recruitment
to higher civil services in India is
based on the recommendations of
which of the following committees
and commissions ?

1)
(2)
3)
(4)
(5) Macaulay Committee
Codes :

(A) (1), (3) and (5)

(B) (1) and (3)

(C) (1), (3), (4) and (5)
(D) (3) Only

3)

(4)

Satishchandra Committee
Lee Commission

Kothari Committee
Aitchison Committee

21.

22.
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TA9L™ hIIiTITeed Eeteideh! hivd

faum™ aeR 3e ?

(1) el WRa e fasmmen g
T 3Te.

(2) T A WAl HerA AT
ST FHAEH TR

(3) ® M 1947 A& Mg STeT=A1
gfaaren S Sfdord ST,

(4) §F 1967 T&d 1 TAUHHE Hae™
A 3flelrel S Bld.

Hehdih :

(A) (D), (2) Ao (3)

(B) (1), (3) U1 (4)

(C) (3) 3mfur (4)

(D) (1) o (3)

TRARIE Sod AN HATHed et Qe

U ITefieruehl ShioTean gfgat st

ST RTARefer senia s 2

(1) wrer=s gt

(2) < wfeH

(3) hlerit HfHdl

(4) g e

(5) Hehled HiHdT

Gehdieh :

(A) (1), (3) = (5)

(B) (1) =7fur (3)

(C) (1), (3), (4) =nfur (5)

(D) (3) &

12



23. Which of the following is the

correct procedure for impeachment

and removal of a judge of the

Supreme Court ?

(A)

(B)

©

(D)

The Prime Minister dismisses
the judges by conducting
impeachment proceedings.
The President may dismiss
him by passing a resolution
against him by a 2/3 majority
vote of the members present in
both the Houses of Parliament.
The Prime Minister can
remove a judge by passing a
bill of parliament and passing
a resolution of impeachment.
The President may dismiss a
Judge by order of the Prime
Minister, by passing a
resolution by a 1/3 majority of

the members of both the

Houses of Parliament.

JUN - 21225/T1—A

23. Tared Al TR He ==

e AT TSAH HIvAT BT

I TGl IOt 2

(A)

(B)

(®)

(D)

YA =ATHTETIER. HRI T Teel

A A FSqh hLdm.

HqES=T TR GYNRTS Sqfeerd

T HASHIGR 2/3 SgHdH =
faeg @ U FHEA [ A

ISqh hE ehdId.

gyc fagEer a9 Sed 9 "l
3 U TqYY A Sedh

HE IR

U T GUTRRTE g

1/3 SgHAM U@ U €A, Td-

AT AR TS AT LT

gSd%h HE ehdd.

13

5=
[



24. Which one of the following is the

25.

base of origin of the existing

administrative system of India ?

(A) London East India Company’s
Administration

(B) Indian Constitution

(C) 1909 Act

(D) 1919 Act

The first important result of the

enactment of Government of India

Act, 1858 :

(1) The control of the Government
of India was transferred from

the Company to the Crown

A new office of a cabinet

(2)
minister, to be known as the

Secretary of State for India
(3)

The council, under the direction
of the Secretary of State

(4) The Secretary of State was

given an office called the India
Office

Codes :

(A) (1), (2) and (3)

(B) Only (1) and (2)

(C) Only (1), (2) and (3)

(D) Only (1), (2), (3) and (4)

JUN - 21225/T1—A

24. WIATATHRT KA Tk faedE 9O

25.

TRIEHE HIE=1 TER 3R 7

(A) @& SR Sfed wuAre WA

(B) R Hfaem

(C) 1909 =1 FHART

(D) 1919 =1 FHERT

IRA TR, TfufEm, 1858 &1 drvarn

qfgell Hgwequl aRom

(1) ¥R &R 30 oA Fwed
ufiehe BT el Tl

Hee T T HEed, TRA
T Figdrerd BUA el e
AT

e 2 T Hiearen fdema et
T Hi e S SRd hEe™
UM HelrEel S ARt

Hehdich :

(2)

3)

(4)

A) (1), (2) 7fr (3)

(B) %o (1) T (2)

(C) whaes (1), (2) fur (3)
(D) wda (1), (2), (3) (0T (4)

14
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26.

27.

Which one of the following is not
correct about the Council of

Ministers and Cabinet ?

(A) Council of Ministers is a big
group

(B)

In that council there many

stages ministers are members

(C) The cabinet is the steering
wheel within the Council of

Ministers

council of ministers

(D) All
participate in meeting of the

cabinet

After 1966 which Indian Service
was established as the Third All

India Service ?

(A) Indian Police Service
(B) Indian Forest Service
(C) Revenue Service

(D) Railway Service

26.

27.

JUN - 21225/T1—A

(a¥ o
ICININEED

HIUd Uk HOUREE 9

eIl SR e ?

(A) HAfRER T Higl 9 3R

(B) Imd ek T H3l HeET 319

(C) #fHes, Aiuitee e wRr

fea sme

(D) HiHSor=a S&hia Td HiFTEE

TEINT ST
1966 R IV TRATE Heal T A
sfean wfdw wuE wenfud et ?
(A) 3feam dreite wfdw
(B) sfead wRe widw
(C) g wfelw

(D) Iea |iag

15
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28.

29.

Which of the following services
provided by 1951 Act, as an All
India Services ?

(1)
(2)
(3)
4)
Select the correct code :
(A) (1) and (2)

(B) (1), (2) and (3)

(C) (1) and (3)

D) (1), (2), (3) and (4)

Consider the following statement
related to pardoning power of the
governor.

Indian Administrative Services
Indian Police Service
Forest Service

Revenue Service

(1) Governor has power to grant
pardons remit or commute the
sentence of any person convicted
of any offence against any law
relating to matter to which
executive power and state
extends.

(2) Governor has executive power

to grant pardon in cases where

the sentence is of death

sentence.
Choose the correct option :
(A) (1) only
(B) (2) only
(C) Both (1) and (2)
(D) Neither (1) nor (2)

28.

29.
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1951 =1 SHIFCHIIH Wit Far= Tlds

e RdE Ja1 "UA e

(1) sfeam stefufries afdy

(2) sfeaa deie ™

(3) WRE Hfad

(4) sz wfdw

I g faer

(A) (1) smfor (2)

(B) (1), (2) M (3)

(C) (1) =7for (3)

(D) (1), (2), (3) (o (4)

TSIATATSAT AT TR Faferd

Treitel faum fa=ma =

(1) TSI SR STfEdR ot
T fowfia staaedn Siveret
ST AU vl TR
SIS ST HIVICATE! SAbra! et
H% < {UYTH] r°|';°|| °h‘-|q| h {UYH]

AR TR

(2) 1 YHIUHE fR1en GRSt TR
3R HOh{UIi‘-I*X‘I ‘I%"i{(’ﬂ &HI h I
FESRN SRR AR,

I g ferer

(A) & (1)

(B) & (2)

(C) (1) Mfor (2) gl
(D) (1) fRar (2) 7@

16
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30. Assertion (A) and Reason (R) | 30. faum (A) s7for Rl (R) 971 :
Pattern : . . .
Assertion (A) : Minister shall be R (A) ¢ TR TR A
appointed by the president on the HETATHR AOLAAGR hefl ST,
advice of the prime minister. FUT (R) : TATE= it Sta wsit
Reason (R) : Minister shall hold e
office during the pleasure of the AN '
prime minister. Hehdich :
((Z;d(ez)‘ 4 ® both are & . (A) (A) &Aftn (R) St ek St St
an oth are true an N "
(R) is the correct explanation (R) % (A) S =71 TR ST
for (A) (B) (A) =fon (R) 21 R 3T, Son
(B) (A) and (R) both are true and (R) © (A) et AW SIS el
(R) is not the correct explanation
for (A) (C) (A) SR 3T, (R) T I 3
(C) (A) is correct, (R) is incorrect (D) (A) 9% R, (R) § SR =M
(D) (A) is incorrect, (R) is correct
31. Assertion (A) and Reason (R) | Sl faem (A) safer wwoT (R) T
Pattern : e faum g% % sl o e
Assertion (A) : A Zilla Parishad . £ o
shall have a Chief Executive Officer ﬁ?ﬂ (A)ﬁ ) o cb‘ ENE. -
appointed by the State Government T ah ﬁL > g
in Maharashtra. ’
Reason (R) : In Maharashtra if a U (R) : ARSI ST TETGRT TS[egl
Zilla Parishad informs the Chief TR FET FRIFR S T
Executive Officer by a 2/3 majority, STATTATR AT 2/3 SGHA hoaiaTedrd T8
the State Government is bound to O ST IMEAE AT T
do so. e
Codes : .
oces = (A) (A) s 318 T (R) ® I 3R
(A) (A) is correct but (R) wrong .
(B) (R) is correct but (A) is wrong (B) (R) e T (A) T IF e
(C) (A) and (R) are correct but (R) (C) (A) =WfoT (R) IR 3 W; (R)
is not the reason of (A) g (A) ¥ HRU AR
(D) Only (A) is correct D) &F (A) TR 3T
17 [=]% =]
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32. Match List I with List II and | 392. @Imﬁllwmw@aﬁ
select the correct answer by using feoiedl Gehdiehm=l a9 h&d I 3T
the codes given below the lists : IECER
List I (Articles) g 1 (@)
(@) Article-167 (@) SAT=]-167
(b) Article-169 (b) 3AT=%-169
(¢) Article-155 () 3 T=x-155
(d) Article-163 (d) 3TT=R-163
List II (Authorities) et 11 (feremrt)
(1) Governor (1) TF9TeA
(2) Council of Ministers (2) w=fuReg
(3) Duties of Chief Minister (3) HEAHAE FHdoH
(4) Legislative Council (4) faumraReg
Codes : Hehdich :
(@ ) @© @@ (@ b)) © @
a 1 @ B @ @ @ @ & @
B @ 3 @ @ B) @ B @ @
< 3 @ @ © @3 @ @ @
D@3 @ 1O @ D @ @ @ @
33. Which provision is given in | 33. fScardie TGt 30T TFRATTRHT TR
Article 243 ZD of the Constitution he ] AT Q‘:hi;m WW
to consolidate the schemes T 243 ZD HEY IO ST 3R 2
prepared by the Panchayats and .
Municipalities in the district ? (A) SR
(A) Panchayati Raj (B) Forem i i
(B) District Planning Committees =
(C) Co-operative Societies ©
(D) State Election Commission (D) T~ Faeu®
18 [=] 3 [=]



[=]::
34.

35.

Which Article of the Constitution of
India provides for the Metropolitan
Planning Committee to prepare the
Metropolitan Development Planning
Scheme ?

(A) Article 243 ZC

(B) Article 243 ZD

(C) Article 243 ZE

(D) Article 243 ZG

The secretariat helps the Ministries

in the following matters :

(1) Budgeting and controlling

expenditure

(2)

Formulation of policies and

programmes
Advice to the Governor

3)

(4) Acting as the spokesman of the

Government
Select correct code :
A) (D), (2), (4)

(B) (D), 3), (4)
(©) (D), (2), 3)
D) (2), 3), (4)

34.

35.

JUN - 21225/T1—A

YA TSI ShI0eT SheTHId HEATR
foermg fTaeH STREST TR HLugr TS
Tefor Shetett HerR e iR g
g ?

(A) <heTH 243 ZC
(B) <hetH 243 ZD
(C) <heTH 243 ZE
(D) <hetH 243 ZG

Hieared HATAS Wil sedid Jed

< {dld

(1) @R ENYIs d a0

(2) RO g HEKH TIR HLO

(3) THWAE Feell QU1

(4) T HIHIET Foekdl oA

qrg Yehaish faer :

A) @), (2), @)

B) @), (3), 4)

©) @), @), 3)

D) (2), 3) (4

19
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36.

37.

38.

Which of the following Municipal
Corporations function according to
Mumbai Provincial Municipal
Corporations Act, 1949 ?

(A)
(B)
(®)

Mumbai, Nagpur, Jalgaon

Pune, Nagpur, Solapur

Mumbai, Aurangabad, Pimpri-

Chinchwad

(D) Nanded-Waghala, Amerawati,

Kalyan-Dombivali

Which one of the following is not

the source of income of the

municipal bodies ?

(A) Octroi and Property tax

(B) Entertainment tax and
Advertisement tax

(C) Land service and Sales tax

(D) Market tax and water tax

According to the 73rd and 74th

amendments the State Government

constituted which of the following ?
(1) State Election Commission
(2) Statutory Development Board
(3) State Finance Commission
(4) State Planning Commission
Select the correct code :

A (D, (2), 3)

(B) (2), (3), (4)

© (D), 3), 4)

D) (D), (2), (4)

36.

37.

38.

JUN - 21225/TT—A
1949 I HIIUTTHO WTcATclteh! hioea
TEMTRUfeishal hRYR et 2
(A) 9a5, TR, STeaTTral
(B) 91, AT, W
(C) Hsi§, imene, fusht feeas
(D) AR<S-dTE, ST, THedul-S et

T TeTdeh] ShITUTAT AT eTenT HEAT=T
I G @ ?

(A) SThTd 30T HIGTA Y
(B) ST T AT e e
(C) ST e aTfur fershl st
(D) SR ST A0 qrof T

73T 9 74AT FSAREHITAR Y
TR 6@ TG el ?

(1) T fHafed s
(2) aunfier fawma Hees
(3) T fom mEm

(4) T TERE Em
Ay Gehaik e
A) (1), (2), 3)

(B) (2), 3), (4)

© ), 3), 4)

D) 1), (2), (4)
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39. As the Judicial Magistrate the | 39. TNegl TSR Rl B[ Seaiowil § w1
collector has powers of : IR 9redd :
(1) Inspection of prisons (1) TR g
(2) Collection of revenue (2) = ng:,c\;ﬂa HHe
(3) Problems of labours (38) FTHRE ¥
(4) To leave prisoners before dead- (4) St Tedqd e
line N
T Hehdleh el .
Select the correct code :
A (1), (2), 3)
A (D), (2), 3)
B) (D), 3), (4)
B) (D), 3), (4)
€ 2), @), (1)
© @), @, (1)
D) (1), (2), 4)
D) (D), (2), (4)
40. Which programme is launched in | 40. 3.§. 1980 W& WUl HTAHA AT
1980 ?
el ?
(A) Jawahar Gram Samridhi
Yojana (A) T UM FgG A
(B) Integrated Rural Development
Programme (B) Thisha UTHIOT foaehrd s
(C) Pradhan Mantri Gramodaya
Yojana (C) JUMET UG A5
(D) National Rural Employment
(D) TSEE UMY ISTR AT
Programme
21 [=] 3 [=]
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41. There are four categories of local | 41. WFaHE TN eh IMEAT= IR S0 ST
governments in France. Which Qe <=l arg e hiordl ?
of the following is their correct . .
(A) feurdde, orEtade, &=iq ot
order ?
DA
(A) Department, Arrondisment,
Canton and Commune (B) ®¥gA, feurdde, &==iq sufum
(B) Commune, Department, Canton ERUS LT
and Arrondisment (C) ®=TH, IA=gwfz, wHgA iy
(C) Canton, Arrondisment, .
Commune and Department
(D) feurddie, wHA, e i
(D) Department, Commune,
-
Arrondisment and Canton
42. Which of the following is not | 42. TTCGTd®! IV FIFACHS - hTATcHh
related to the structural-Functional gl wefed ARl ?
Approach ?
PP (A) TeeA |34
(A) Elton Mayo
(B) <fetepie U=
(B) Talcott Parsons
(C) Dwight Waldo (C) e =mes
(D) F. W. Riggs (D) Th. Ty, fos
22 [=] 4 [=]



43. Match List I (Authors) with List II

(Books) and select the correct

answer using the codes given below
the list :

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

List I
Ralph Braibanti
Fred W. Riggs
Dwight Waldo
Edward W. Weidner
List II

Political and Administrative

Development

of

Development Administration

Temporal Dimensions

Development Administration in

Asia

Frontiers of Development

Administration

Codes :

A @)
B) @)
(ONC
D) (2)

()
4)
3)
(D
3

(@ ()
(2)
(4)
(3)

(1)

(c)
(3)
(2)
(2)
(4)

JUN - 21225/T1—A

43. I (<@eh) FET I (U9) Fied Jeoall
aTtor et feoiedn dfgaqa I S
faret

(@)
(®)
(c)
(d)

(D
(2)

3)
4)

Tt 1
Teh ISl
e Ty, o

ERILCAEIRS]

TEae %Y. AFSN

gt 11
Hietifesha 3t sfefhfria SHaui
SHRA SEHREY S Sseauic
sfeffreem
SxaTHe ety 37 TRmn
Thi2 Ry it S Stefifeeym

Higar

A @
B) @)
©) @

D) (@)

@ & © @

2 6 @

4) @) 3

3 @ @

1 @ 3
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44.

45.

Which of the following elements
is not important element of
Development Administration ?

(A) Bureaucracy oriented

(B) Goal-oriented

(C) Planned and Co-ordinated
efforts

(D) Creativity and innovativeness

Consider the following statement

with reference to the Department

in France :

(1) Majority of the Departments in
France are named after some
freedom fighters

(2) Areawise the largest
Department in France is in the
city of Paris

Choose the correct options :

(A) Only (1)

(B) Only (2)

(C) Both (1) and (2)

(D) Neither (1) nor (2)

JUN - 21225/T1—A

44, TAAUR] Rl Sk TR TR

45.

HETeTEl ¥ ARl ?

(A) TR

(B) =@

(C) franfsma anfor ww=itd o
(D) HSiRfreran effor Jref=rgutan

TRIAE faamTe eid et faEmmET
fo=R &7 :

(1) wraALa sgaiy faammmn w1
A=A T A v STre

3.

(2) SARRTIR HFAALTA Haid Hial
faum @ sewa o1

IJrg g4t At

(A) (1)

(B) ®h (2)

(C) (1) e7for (2) <=

(D) (1) fpar (2) =

24
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46.

47.

Which of the following is not
originated by Von Bertalanffy ?
(A) System Approach

(B) Behavioral Approach

(C) Human Relation Theory

(D) New Public Management
Assertion (A) and Reason (R)
Pattern :

Assertion (A) : The important
task of the government is to promote
and carry out innovation for

development.

(R)

Administration is the adoption of

Reason Development

new structures, procedures and
policies which would help to achieve
developmental objectives with the

greatest possible facilitation.

Answer the question using the codes

given below :
Codes :
(A) Both (A) and (R) are true, and

(R) is the correct reason of (A)
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true, and

(R) is not correct reason of (A)

46.

47.

JUN - 21225/T1—A

WATAUeh! IO Y a4 Sdoihid
Sl el ?
(A) YuTert gfteese

(B) odvRh gfteenH
(C) wFet gay fagma
(D) e HreSTeh SHeEemI

faem (A) 3for SRl (R) 9T ¢

faam (A) : TERE Ao & =S
TRt ATE=rgul IUSRHT =TT 901
oy el B

&HRUT (R) : f9™@ W9MEA N a1
TTEAT, HETSA S0 GR0 Wl &
vl fadern Higdl giaews foaeshmarceh

3fgee We A Hed .

Hehdiah :

(A) (A) eTfoT (R) T S-SR, 37T (R)
T (A) 9 I FRO T

(B) (A) SRR 3T, R (R) & I 3¢

(C) (A) oTfor (R) ST <k 3Ted

(D) (A) 7o (R) Sl =R, 10 (R)
T (A) ¥ I SR ARl

25
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48.

49.

Assertion (A) and Reason (R)
Pattern :

Assertion (A) Sustainable
Development emphasizes use of

renewable sources.

Reason (R) : Solar energy and wind
power technologies are very costly

and difficult to use.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true, and

(R) is the correct reason of (A)
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not correct reason of (A)

Which one of the following indicators

is not a component of the Human

Development Index (HDI) ?

(A) Life expectancy at birth

(B) Gross National Income

(C) Mean year of schooling

(D) Infant mortality rate

48.

49.

JUN - 21225/T1—A
faem (A) sfor e (R) 9T ¢
faeam (A) : Tvea foewm™ 1@ g

IR 9T <l

HROT (R) : 91 St 370 qeq St
TR A HEM M SIodrd ol
3.

Hehdleh

(A) (A) 3for (R) St s, 31vn (R)
T (A) ¥ I FHRO IR

(B) (A) SR 378, W (R) € IF 3Q

(C) (A) emfur (R) Sl < 3Ted

(D) (A) T (R) Sl &, 3107 (R)
T (A) ¥ I HRU AR

ETeiterden] shivral e Ae fashrd
TR ek A 2

(A) ST Je8l STgHA

(B) THY T I

(C) e faome s o

(D) oA o =X

26
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50.

51.

Sustainable Development is a

process of change it means :

Direction of investments

(1)

(2)

Orientation of technological

development

3)

Exploitation of resources
(4) Study of nature

Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (1), (2) and (3)

D) (1), (2), (3) and (4)

The Monopolies and Restrictive

Trade Practices Act (MRTP) 1969

has been repealed and replaced by

which Act ?

(A) Industrial Policy 1991

(B) Competition Act 2002

(C) Industrial (Development and
Regulation) Act 1951

(D) Industrial Policy 1980

50.

51.

JUN - 21225/T1—A

IMYad faehra & sga=t Hfsman e, A=
A9 .

(1) et feem

(2) difser foerrar=i fewm

(3) HETHA TN

(4) frami=n stsamd
Hehdich :

(A) (1) =for (2)

(B) (2) =nfor (3)

(©) (1), (2) =7for (3)
D) (1), (2), (3) =701 (4)

HeRieRl 3701 Yfqeecaeh SR s9eeR
%Rl (MRTP) 1969 Q8 & STl

IV SHIICAH Seeiell 3R 2

(A) ST €Ror 1991

(B) Tuef =&l 2002

(C) sirgifire (famma afor framm)
arfaftam 1951

(D) siiEfitr &Ror 1980

27
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52.

53.

Which are the three organs involved

in the formulation of the budget ?

(A) Finance Ministry, Audit and
Accounts, Comptroller Auditor
General of India

(B) Finance Ministry,
Administrative Ministries,
Comptroller Auditor General of
India

(C) Administrative Ministries, Audit
and Accounts, Comptroller
Auditor General of India

Public
Accounts Committee, Comptroller
Auditor General of India

Assertion (A) : As per the Article

120 Business in parliament shall

(D) Finance Ministry,

be transacted in Hindi or in
English.

Reason (R) : The chairman of the
council of state or speaker of the
House of People is not allowed any

language.

(A) Both (A) and (R) are true and
(R) is the reason of (A)

(B) (A) is true, (R) is false
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not the reason of (A)

52.

53.

JUN - 21225/11—A
TR e AfHATE Shiow T fawrT=T
HEIIT 3T&dl 2
(A) o e, ereraderT oTftr o,
TRATe fsen ereien e
(B) fora w=ierd, HeTeenia Halterd], SR

EREE IR HGEC I IEED

(C) TRTEhE HATAY, AWTILET0T 37107
AW, YA e Heeren wiesh

(D) fom T, Seheien 9idl, YRar

EREE IR MIC I LS ED

faam (A) : a9 120 TR FEcdaA
FeRTst fedl foran SUsiaed Sl Sed.
HRUT (R) : TF Ufloee 31emey fohen

AR TSR] hIVICATSl  HTor=t

TR A&l

(A) (A) 37T (R) Tt T 3T A0
(R) ¥ (A) ¥ XU T®

B) (A) ¥ &%, (R) T @I e
(C) (A) =7for (R) &l @i Ted

(D) (A) 371 (R) Tl T 3T (01
(R) & (A) = &I @l
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54.

55.

What is closely associated with

Sunset Legislation ?

(A) Performance Budgeting

(B) Zero Based Budgeting

(C) Line-Item Budgeting

(D) Gender Budget

From the following statement which

statement is not true with regard

to Comptroller Auditor General of

India :

(A) Comptroller Auditor General of
India is the head of Indian
Audit and Accounts department

(B) He derives his constitutional

standing as the Auditor of the

Union and State Governments

from Article 140 to 147 of the

constitution

(C) Duties, powers and conditions

of service are laid down in

Comptroller Auditor General

Act 1971

(D)

His name is proposed by

President of India

JUN - 21225/T1—A

54. WEed TAETRRN M= o] Hatad

g ?
(A) HMEAT
(B) IR NG S_TSIAR
(C) dfF=es SRSU=R
(D) famuRa sireraseh

STETSTIAR

55. TEiciuen! YR fRisieh el TRk

TSI ShI SR SR -8t 2

(A) YR TR 9 HeereEn T 8l
qRAT=IT A AT ATITIL &T0T

favmmen gea otEdl

(B) U&= hatd 140 @ 147 T8R

a_&r ST T TR RE @I &70]
U T S el 9T et
e

(C) wdsg AferaRry emfor |arerat =
Tregsor anfor wereran wieres sifufm

1971 JER 3Ted

(D) = AU RATe Al R

29
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56.

57.

58.

Who is the Apex Accounting

Authority of the Central Government

and exercises the powers of the

President under Article 150 of the

constitution ?

(A) Chief Accountant

(B) Auditor

(C) The Comptroller General of
Accounts

(D) Secretary

Which type of role has been

assigned by the constitution to the

Finance Commission ?

(A) Framing of Policy

(B) Advisory

(C) Technical

(D) Advisory and Technical

Assertion (A) : The principle

adopted as per the constitution of

India for clear division of fiscal

powers between Union and State

Government are the taxes which

have interstate base are levied by

the state.

Reason (R) : Those with a local base
are levied by the state.

Answer the question using the codes
given below :

(A) Both (A) and (R) are true and
(R) is the reason of (A)

(B) (A) is false, (R) is true
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not the reason of (A)

56.

57.

58.

JUN - 21225/T1—A

T3 RN Tated @l FIHTur i
3R Sffor Wgemrea wed 150 3Tdid
e SR TR A 2

(A) H&a d@m

(B) wemwiarh

(C) wHereren feseh

(D) Hf=E

T fox 3TN SIve Jehiat
Jfyert foeft o8 2

(A) ERUT= =

(B) e

(C) dif=

(D) FearR 3nfor qifses

faeam (A) : g 3T T TER A=A
IENRESICEINE RS IR CR SR e TuDirir|
TR HIGHHTIR TR aw Tors
AT STER T L TR
SRR STaTd.

HRUT (R) : <=1 T STMER 3T”
AR S TF STHRUT hal.

A o

Clredl |
AT

(A) (A) 7for (R) Sal e 3Ted ST
(R) § (A) 9 HRU 3T

(B) (A) @i 318, (R) 8§ ©R R

(C) (A) 27for (R) <=l @S 3Ted

(D) (A) 3Tfor (R) Tl T 3T A0
(R) ® (A) ¥ &I &t

A Giehdieh aTIe" YIE 3TN
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59.

60.

61.

How many members are appointed
in the Departmentally Related
Standing Committees from Lok
Sabha ?

(A) 15
(B) 20
(C) 30
D) 25

To whom the reports of audits are

sent by the Comptroller and

Auditor General of India ?

(A) Finance Ministry

(B) Estimates Committee

(C) Public Accounts Committee

(D) Cabinet Secretary

Which are the main factors that

determine the status and course of

social and welfare services in

developed countries ?

(1) Growth of population

(2) Changes in the composition of
labour force

Select correct codes :

(A) (1) correct

(B) (1) and (2) correct

(C) (2) correct

(D) (1), (2) are incorrect

59.

60.

61.

JUN - 21225/T1—A

TR e TRl A Aha

~_n

[hdl IS FHe S ?

(A) 15
(B) 20
(C) 30
D) 25

TRATS 185 o ol aleeh ol e
EIRCERRCaUIE e | CIER I I

(A) fo= o

(B) T Wfe

(C) <t o wft

(D) =fere wfeam

ferenfia ST eiiet TSR Ao sheaorhr
Tarrit feerdt afor syvaresed feifita sHeom
q&A T 10 STRd ?

(1) dRge 9@

(2) SR TEAd dqd
A Aiehdish el :

(A) ® (1) SR

(B) (1) afor (2) s
(C) el (2) SR

D) (1), (2) Ih= 3T
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62.

63.

64.

Which year was declared as ‘Year
of Girl Child’ by SAARC ?

(A) 1985
(B) 1989
(C) 1990

(D) 1992
From the following which program
is not for minorities/minority
students ?

(A) Nai Uddan

(B) Naya Savera

(C) One Stop Centre Scheme

(D) Padho Pardesh

Which three ministries have taken
initiative for the Beti Bachav Beti
Padhav Scheme ?

(A) Ministry of Women and Child
Development, Ministry of
Health and Family Welfare
and Ministry of Human
Resource Development
Ministry of Health and Family
Welfare, Ministry of Human
Resource Development and
Ministry of Ayush

Ministry of Health and Family
Welfare, Ministry of Women
and Child Development and
Ministry of Ayush

Ministry of Women and Child
Development,

(B)

©

(D)
Ministry of
Human Resource Development
and Ministry of Ayush

62.

63.

64.

JUN - 21225/T1—A
RIvd a5 SAARC 7 ‘=iferent a6’ wuA
=oa et ?
(A) 1985
(B) 1989
(C) 1990
(D) 1992
WA Il FEIHH TCTGEATh/
ST fagaeatae Rt ?
(A) T SgeH
(B) 1 Ho{
(C) &1 w=IT &3 e
(D) W@ &Y
St ST St U@IsTl ANt v
T FAAT T JeehR Bael 3T ?

(A) #feen enfor sra faswm g3,
ST 30T F2d HeAT FATAT
a7for g GEeE faswma garer

(B) TR A0 e Hear HAH,
e gaeH faswm g3mera enfor
STE HATT

(C) SR 3Mf FH2a HeAm HATH,
Tfger 27101 a1t TR J=er sTfun
TS HATTH

(D) Hfgen 2nfor o foehre Hoer™, A
T fawme weerE i ST
AT
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65. What are the objectives of | g5. gaw wRa Wfed=h (AIC) Sfee &M
Accessible India Campaign (AIC) s 2
are :
(1) Built in environment () g
accessibility (2) j\\:i?,{q;[ T BUI BT
(2) Transportation accessibility @) =i — 5!
(3) Promotion of empowerment of .
persons with disabilities RURIRE RESE
Select correct codes : (A) (1) 3for (2) s
(A) (1) and (2) correct (B) (2) 31 (3) aeR
(B) (2) and (3) correct
(C) (1) Zfor (3) ==L
(C) (1) and (3) correct
D) (1), (2) A (3) s
(D) (1), (2) and (3) correct
66. The Chairman of the National | 66. WWW%W?&W :
Commission for Backward Class (A) 5
is : )
(A) President (B) HawHm
(B) Prime Minister (C) qqaﬁ?c" W Wgﬁg‘[
(C) Judge of Supreme Court . )
(D) Cabinet Minister D) il
67. From the following which Article | 67. @Icliciieh! IV HeTH TR QAT
does not guarantee social justice to =T B S A ?
the people ? (A) (15)1
(A) Article (15)1 B 61
(B) Article (16)1 (B) (16)
(C) Article 52 (C) e 52
(D) Article 41 (D) haetH 41
33 [=]% =]
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68.

69.

From the following who are the
part of battalions of National
Disaster Response Force (NDRF) ?

(1) Border Security Force

(2) Indo-Tibetan Border Police
3)
Select correct code :

(A) (1) and (2) correct

(B) (2) and (3) correct

(C) (1) and (3) correct

(D) (1), (2) and (3) correct

What are the objectives of the
National Helpline Against Atrocities
(NHAA) ?

Central Reserve Police Force

(1) To build informed awareness
about the provisions of the law
to end discrimination and

provide protection.

(2) An initiative for grievance

68.

69.
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TR 10T AL ST Gfoare gt
(NDRF) =1 SRifaid-=n 9r fed 2

(1) Hrer geam <

(2) zS-fooe Hm el

(3) H3F TEE deAE T

I Gahdies fael

(A) (1) 7o (2) s

(B) (2) 37fur (3) =R

(C) (1) 3nfor (3) =R

D) (1), (2) M0 (3) ST

I godeled ST Uifadt (NHAA)=

3fe #@ smRa ?

(1) 9S9E 9 HI0IEIET AT
TEI Y IS, hIAATA
AR GRS G0l SRR
fmfor =,

(2) THR ARG Teh SUhH AT

redressal and real time :h?“ﬁ%_d qehIe AR areh dad e
monitoring of registered HII.
grievances A dEdaiE £ :
Ch t code : :
oose correct code “) (D
(A) (1) correct
(B) (2) correct (B) (2)
(C) (1) and (2) correct (C) (1) =Tfor (2) =R
(D) (1) and (2) wrong D) (1) =7ftr (2) Tehtt
34 =] 4 =]



[=]::
70.

71.

On which premise Techno-
Managerial Voluntary Agencies
work ?

(A) Try to bring about changes in
the social and economic
relationship with existing
political framework

(B) Work on the premise that

process of rural development

can be accelerated through
modern management techniques
and technology

(C) Seek to change the existing

productive relations

(D) Work for the welfare of the
society
Who of the following has

acknowledged the ‘Deweyism’
which encompasses policy science ?
(A) Lasswell

(B) Dror

(C) Brooks

(D) Ward

JUN - 21225/T1—A

70. IIA-HTEATTh T TS TEAT ShI0Te

71.

3TYNER hH HIdd 7

(A) facaam TSihia Ak AR

sTfor erfefer wew@ dca weqd

SAITOITET FIH 0]

(B) *MYfTeh ST T3 AT TSI~
AR T foekrET= gfshan e

HIAT TSA, IT STEE h1H hL0]

(C) oM 3G FoiY Iearvar=l TaeT

ET

(D) FHNTAT HedToMETS! hTH hol

ETeATeTdeh! I SORIST=T THEY

e g gge| o "= foeft e ?
(A) «rEad
(B) &R

(C) g™
(D) arE

35
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72. Assertion (A) and Reason (R) | 79 fgum (A) snfr &R0 (R) T
Pattern : . .
faem (A) : ITEl R0l TTe AXhRaR
Assertion (A) : Good policies W ST
depend upon good government. . . .
R ® : Good o HROT (R) : I ERR AR ST
eason : ‘Good governmen G B A e i s
rests on three pillars : honesty, T ST
democracy and competency.
Hehdieh :
Codes :
(A) Both (A) and (R) true and (R) (B) (A) 3T (R) <<t , ST (R)
. T (A) ¥ I R TR
is the correct reason of (A)
(B) (A) is true, but (R) is false (B) (A) T 3T, TG (R) T H M
(C) Both (A) and (R) are false (©) (A) s (R) V=l e Sed
(D) Both (A) and (R) true and (R) (D) (A) ST (R) S IR, 01 (R)
is not correct reason of (A) g (A) 3 A e
73. Which of the following pairs are | 73. WIcficiieh! IV SIST SRISR Seect 318/
correctly matched ? e ?
(1) Redistributive Policy - (1) gAfI@RE &R0 - 69 GEEH
Distribution of new resources faawo
(2) Constituent Policy — Setting up (2) ©2h GRU - FEART T fohan
or reorganization of institutions gqia——n
(3) Regulatory Policy — Regulation (3) e ¥Rl - ferameremar= e
and control of activities anfor fa=o
Codes : Hehdich :
(A) Only (1) (A) % (1)
(B) Only (2) and (3) (B) WKl (2) U1 (3)
(C) Only (1) and (2) (C) e (1) 3T (2)
(D) Only (3) (D) % (3)
36 [m] 2% [m]
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74,

75.

76.

Who finds Lindblom’s ‘Incremental
model’ is quite conservative and
unsatisfactory ?

(A) John C. Harsanyi

(B) Yehezekel Dror

(C) Amiti Etzioni

(D) Laurence Lynn

Who believed that policy-making is
a complexly interactive process
without beginning or end ?

(A) Lindblom

(B) Dror

(C) Lasswell

(D) Etzioni

Who of the following considers
implementation to be a “general
process of administrative action” ?
(A) Lary M. Gerston

(B) Merilee S. Grindle

(C) Nicholas Henry

(D) James Anderson

74.

75.

76.
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s * foararet arda’ § o1
RUHAATE] ST STIHESRReS 378 3T
IO ded ?

(A) S @i g=
(B) Jgeishd gR
(C) AfHeT sefS3tHT
(D) @R fom

IRUATH € geara fhar Tae THee
T TER Ufshan 3118 ATER i
fergem® g ?

(A) faesdm

(B) ¥R
(C) oA
(D) ZfSeTHt

TIATATHRT HI10T AAASATITN BT

g smRETedl 9E gfwar’

HEdl ?

(A) &G . TS
(B) #{ielt wH. Urgea
(C) frhie™ &

(D) S e H
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77. According to Stuart Nagel, what | 77. TR ANG= Hd, ¥R faveivom &
are the key elements of policy T2k HIUA ARd ?
analysis ? 1) om
(1) goals
(2) HrEmH
(2) means
(8) dgdt
(3) methods
(4) =II9™
(4) profession
(5) URUmM™A
(56) outcome
A Gehdieh ol
Select correct code :
(A) (1), (2), (3) =mfor (5)
(A) (1), (2), (3) and (5)
(B) (1), (2), (3) 37T (4)
(B) (1), (2), (3) and (4)
(C) (1), (2), (4) =fur (5)
(C) (1), (2), (4) and (5)
D) (2), (3), (4) anfur (5
(D) (2), (3), (4) and (5) D) (2, (3), (&) 2
78. National Food Security Act, 2013 is | 78. S 1= L&l T, 2013 A ST
the example of : e
(A) Regulatory policy (A) Trames gro
(B) Redistributive policy (B) YA &R0
(C) Distributive policy (C) faamor s
(D) Patronage policy (D) TR HR
38 [=] 3 [=]
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79. Match the List I with List IT and | 79. o=t I & g=it IT ot S[ezan nfor @retied
select the correct answer from the ﬁ@ﬁﬁv‘l’qﬁ-{f{ I X fee -
codes given below : 'F!?ﬁ I =)
List I (Thinkers) @ .
(@) Charles Lindblom
(b) I gR
(b) Yehezekel Dror
(c) Afhel gt
(¢) Amitai Etzioni
(d) T I
(d) Herbert Simon .
g 11 (WiEeD)
List II (Model)
(1) HifHa ThEa wied
(1) Bounded rationality model
(2) HM® TIH HiSd
(2) Normative optimum model
(3) fowrac A
(3) Incremental model )
(4) fafsm @i Aiea
(4) Mixed scanning model .
Hehdich :
Codes :
(@ b)) @
(@ ) @ @@
A 3 2 @ @
Aa 3 @ @
B @® @2 @ «
B @O @ B @ ® ML B @
C) @2 a 4) (3
©c 2 O @ 3 © @ @ W @
D) 4) (3 2) (1
D @ 3 @2 @ D@ @ (’)()
80. The term ‘Mega Policy’ has been | 80 ‘T fered’ € ES v WG hedt ?
introduced by : (A) =l feesam
(A) Charles Lindblom (B) <t ¥
(B) Lawrence Mayer
(C) Clarke Cochran (C) FH =
(D) Yehezekel Dror D) Jehd R
39 [=] 3 [=]
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81.

82.

83.

Which is not the feature of Good
Governance ?

(A) Paperless office

(B) Transparency

(C) Participation of public

(D) Public-value management
Who among the following is related
with ‘Administration Law’ ?

(A) L. D. White

(B) Mark Moore

(C) Herbert Simon

(D) Prof. A. V. Dicey

‘Lokmitra’ is a major initiative in
the area of e-governance launched
it in which State ?

(A) Odisha

(B) Maharashtra

(C) Himachal Pradesh

(D) Tamil Nadu

81.

82.

83.
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YRGS IV AL T ?

(A) FrefaRfed wrEfa
(B) UNGERIRd

(C) STH=T FeurhTar

(D) <k HT SFaEATI

TTeTeTdsh! IO UM T I’
Heifed TR ?

(A) T €l =

(B) #& HX

(C) Tl W

(D) 9. T &I SEE

‘AR B SR &I T THE
IYHH TR, AT eaTd ehIoreal AT
el e ?

(A) sufew

(B) HerTeg

(C) femrerdl wew
(D) difHeETS
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84.

85.

86.

Who has quoted “Administrative

law is the law relating to
administration. It determines the
organization, powers and duties of
administrative authorities” ?

(A) K. C. Davis

(B) F. A. Goodnow

(C) W. B. Munro

(D) Ivor Jenning

Administrative reform is brought
about through :

(A) Deliberate efforts

(B) Natural change

(C) Public policy

(D) Tradition

Right to Information Act does not
include the right to :

(A) Inspect work, documents,
records

(B) Take notes, extracts or certified
copies of documents or records
(C) Take certified sample of
material

(D) Get information about national

security issue

84.

85.

86.
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"R HTIRT B URMEH A AL
e, o 3o swden fommua S,
3T HIUT Faed ?

(A) F. 9. ="

(B) T®. T e

(C) o= &t g

(D) STFER =

YR GUR A1 R A0 Sl
(A) STofergeesh I

(B) —Hfif® a8

(C) wresifa €

(D) W

et TfeepR sTfef = o =
FHETT B AR ?

(A) HHE, HEET, Ih(S e g0

Eau
(B) it @19, fohan gHTO W =01
(C) o= JHIO oA =l
(D) ST Geay FRATfersEt Afect fHosferor

41
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87. Who has used expression morality 87. et A & ¥g ot aet 2
instead of ethics ? (A) Ufd 3Tgctst

A) Paul Appleb

(A) Paul Appleby B) =

(B) Herbert Simon

(C) 3=
(C) Urwick
. (D) Td. €l =/
(D) L. D. White
88. Ethics is related to : 88. el & Heiftd e

(1) State of mind. (1) HAT Sfee.

(2) A way of looking at things (2) TE TMediehe STevaren gfteshi
which may develop into a T ST T SAey faeh e
pattern of behaviour. it

(3) Way of life and social conduct. (3) Siterrel et MU WrHITSTR e

Select correct code : A Hehdieh ferel

(A) (1), (2) and (3) (A) (1), (2) T (3)

(B) Only (1) and (2) (B) &K (1) 9 (2)

(C) Only (2) and (3) (C) e (2) 9 (3)

(D) Only (1) and (3) (D) ™K (1) 9 (3)

42 [=] 4 [=]



89. Match the List I with List II and

select the correct answer from the

codes given below :

List 1

(E-governance Programme)

(@)
®)
(c)
(d)

(1)
(2)
3)
(4)

FRINDS
SWAGAT
SARI
TWINS
List II
(State)
Tamil Nadu
Andhra Pradesh
Gujrat

Kerala

Codes :

(@ b)) @© @@

A 3 O @ @

B @D @ @ @

© 2 @ @O 3

M @ B @O @

Hehdlehgd 4rd I et

gt 1
@G| gum)

JUN - 21225/I1—A
89. =T I o geil IT ¥ S[ezan AU @reile

(@) fH=" (FRINDS)

(b) ¥@mda (SWAGAT)

(¢) ¥ (SARI)

(d) ZFH (TWINS)

gt 11

(1) A,
(2) Y weW

(3) TS

(4) s
PO

(@)
A 3
B) @
©) @

D) )

)
(1)
2
4)
(3)

(c)
(4)
(3)
(1)
(1)

(d)
(2)
(4)
(3)
(2)
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90. What are demerits of citizen | 90. FR&=N G Y SV 3TRA 2
charter ? (1) fed! Tell o
(1) Disclosure of information (2) SIUeET STHE
(2) Lack of awareness (3) TooaTEl ST
(3) Lack of consultation i e S
Select correct code : A) (1), 2 3 (3)
A) (1), (2
(A) (1), (2) and (3) B) FF (1) T (2)
(B) Only (1) and (2)
y (C) wF (2) T (3)
(C) Only (2) and (3)
(D) ek (1) & (3)
(D) Only (1) and (3)
91. The basic research is also called 91. THerd L STl T
as : (A) Tgifas genem
(A) Theoretical research (B) SToifsa Seiem
(B) Applied research .
(C) T[UITcHe: HSNeH
(C) Qualitative research
(D) Quantitative research (D) T T
92. The logical model in which specific | 92. 3T TIfeheh YTET SAHEN FHI A=
expectations of hypotheses are STYNTER TEiaehi=A fafimse 319er famfad
developed on the basis of general Hhedl S
principles : (A) formee
(A) Induction @®) f
(B) Deduction ‘
(C) Micro theory (©) e
(D) Macro theory (D) ¥« S
44 [=] 4 [=]
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93.

94.

Assertion (A) : Writing a research
report means that the researcher

must first do research.

Reason (R) : A research report is

only an elaborative presentation.

Answer the question the codes given

below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
Descriptive statistics means :

(A) The set of all elements for

which measurement are

possible

(B) Statistics describing a single

variable

(C) Measurements used to

summaries data sets

(D) Two variables are described

93.

94.
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faam (A) : Iem e1gara fafen =wos
TINRT JIH TYNET el e,

HIUT (R) : TR 37Tl § haled foqa
HIGHHRITT 3T,

Tl Hehdish ATI&A YA 3T A ¢
Hehdich :

(A) 37U (R) <60 T et 3A1for
(R) & (A) o I ST 3T

(A)

(B) (A) sTfT (R) Sl ¥ 3Ted W

R) T (A) 3 Irg TqLH ATEL

(C) (A) ¥ 3¢ W (R) T 3T9A 378

D) (A) 3 3R 90 (R) & T 3

JUATHS GIeTeh! TS

(A) Td ST 99 SIES HISTHY I
3T

(B) Ushdel 9 9UF HI0] Hifeseht

(C) T TF FIYG HI0IES arleid
9=

(D) SH J™ 9uH 3R

45

5=
[



[=::
95.

96.

97.

Axiology related with :

(A) Approaches to research

(B) Researchers’ values

(C) Perceptions of reality

(D) Role of the researcher

What is framing of questionnaire ?
(A) Research Methodology

(B) Research Method

(C) Research Technique

(D) Research Question

When a researcher construct a
hypothesis stipulating that there
is no difference between two

situations, groups, outcomes or

95.

96.

97.

JUN - 21225/11—A
TEIHAERIS A=A dafid TR
(A) TeNYATRS TEuEEl it
(B) wEieehT=l T

(C) &= SATehet

(D) weeehTet fHeht
AT TR IO K IS ?
(A) GENET TErme

(B) HeMEA wgd

(C) HeneH o

(D) GYNeE 999

TYNereh el 11 gfifeerdt, e fear

yerferd feerdt fona =121 Ir=ard ®ieh hid

& A SR RIadaTE! [RIah ]

YHEG AISU Hl d WIS

prevalence of condition or
phenomenon is called as : (A) vt T
(A) Alternative hypothesis (B) wewsis TE®
(B) Hypothesis of association

(C) I TR
(C) Null hypothesis
(D) Hypothesis of differences (D) ¥=Te T

46 [=] 3 [=]



98.

99.

100.

To action either to improve your
practice or to take action to deal
with a problem or an issue is
known as :

(A) Participatory research

(B) Action research

(C) Feminist research

(D) Holistic research

Which contains pertinent materials
that are not important enough to
be included in the main body of
report but which may be of value
to some readers ?

(A) Footnote

(B) Appendix

(C) Bibliography

(D) Preface

Name the process of making data
free from incompleteness and
inconsistencies :

(A) Coding

(B) Editing

(C) Analysis

(D) Reporting

98.

99.
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TH T AefauarErer a9 yed foan
T TATSUIEE! Sl L0 oSl :

(A) HeWHl HeneH
(B) Sl Aele

(C) Sfferel Fiterd

(D) TEHHERTR HINEA

HIMHE SR Al 3T ki ST HEA
STRITATd THTfISS HITITZdeh! He<aTd

TEI U7 ShTEI ATRIEIS! T HeTdM ST
(A) dead

(B) uffrse

(C) Heefeh

(D) g

100. T STYUTT o foremTeiargT Herd S0 =1

EIERCECIE I
(A) HehdiehLo
(B) HURH

(C) fergerom
(D) AT

47
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